
Please keep this instruction manual for future reference

Customer Service: (888) 922-2336, 7:00 am to 12:00 am daily CST
Live Chat on Academy Website (www.academy.com) 24/7 or email 

customerservice@academy.com
(Made in China)

Assembly Instructions 
& User’s Manual 

Outdoor Gourmet Gas and Griddle Combo
Model #: 157872



Page 2 of 32

Table of Contents

Note: Before beginning assembly of product, make sure 
all parts are present. Compare parts with package content 
list and hardware contents. If any part is missing or 
damaged do not attempt to assemble the unit. Contact 
customer service for replacement parts. 

...................................................................12-23

.............................................................28-30

...................................32

7

8-9
10

11

...................................................................24-27Operating Instructions
................................................................... 27Trouble Shooting ...... ......

...........................................................Frequently Asked Questions 31



Page 3 of 32

1.

2.

3.
4.



Page 4 of 32

Do not store a sapre LP-gas cylinder under or near thiis appliance;

Never fill the cylinder beyond 80 percent full; This may cause release of gas from the safety release 
valve;

If the information in "(1)" and "(2)" is not followed exatcly, a fire causing death or serious injury may occur.

8.

Griddle installation must conform with local codes,or in their absence,with either the National Fuel 
Gas Code,ANSI Z223.1/NFPA 54,Natural Gas and Propane Installation Code,CSA B149.1,or 
Propane Storage and Handling Code ,B149.2.
Griddle,when installed,must be electrically grounded in accordance with local codes,or,in
the absence of local codes,with the National Electrical Code,ANSI Z21.58-2018,or the Canadian 
Electrical Code,CSA 1.6 -2018.

This Grill is intended for outdoor use only,and should not be used in a building,garage,or any 
other enclosed are.
This Grill is not intended to be installed in or on recreational vehicles and/or boats.
Never use any other type of fuel for this grill other than LP gas(propane).
Only use the pressure regulator with a type 1 connector that is supplied with this gas grill. 
Before each use,check the gas hose for excessive abrasion,cracking,fraying,wear,or cuts. 
Replace a hose assembly showing those signs with the hose assembly specified in the parts list 
before using the grill.
Always perform a Leak Test before operating your grill.



Page 5 of 32

from

Place dust cap on cylinder valve outlet whenever the cylinder is not in use. Only install

the type of dust cap on the cylinder valve outlet that is provided with the cylinder

valve. Other types of caps or plugs may result in leakage of propane.

2. Do not store in a building,garage,or other enclosed area.
3. Always store your cylinder outside.
4. Store out of reach of children.
5. Always transprot in an upright position.
6. Do not smoke when transporting your cylinder.



Page 6 of 32

1. Do not connect this grill to any unregulated sources of propane.
2. Before each use,check the gas hose for excessive abrasion or wear,or cuts.Replace a hose
   assembly showing those signs.The replacement hose assembly shall be that specified by the
   manufacturer.Inspect the hose assembly underneath the side burner and following the regulator
   hose up to its connection to the gas manifold assembly.
3. Always perform the Leak Test listed below before using your griddle for the first time,if the cylinder
   has been changed,any gas components have been changed,the regulator flow-limiting device has
   been activated,or after a long period of non-use.
4. Do not attempt to connect the grill to the LP system of a motor home or trailer.



Page 7 of 32

1. Ensure the LP cylinder valve and all burners are "OFF".
2. Ensure the LP cylinder is connected to the regulator.
3. If the information above is not followed exactly,a fire causeing death or searous injury may occur.
4. Mix a solution of 50% water and 50% liquid dish soap.Do not use any household cleaner solution.
5. Open the LP tank valve by turning the hand wheel counterclockwise ont turn.If you hear a rushing
   sound,turn the gas off immediately.In that case,there could be a leak at the connection.Reconnect
   the cylinder to the regulator.
6. Spray or brush on the solution covering the following areas:Cylinder welds,regulator and cylidner
   connection,gas hose connections to the regulator,all gas hose,all gas hose connections to the  

7. Growing bubbles on any of the parts and connections listed aboce indicate a gas leak.Immediately
   shut off the LP tank valve by turning the valve clockwise.Retighten the connections or order
   replacement parts as needed.Continue to test as necessary until to leaks are derected.
8. Close the LP tank valve by turning the hand wheel clockwise.

burners including the main and side burners.



Page 8 of 32



Parts List

Page 9 of 32

Side Shelf      2PCS1 2 3 4

5 6 7 8

9 10 11 12

13 14 15 16

17 18 19 20

21 22 23 24

25 26 27 28

Bottom    Shelf      1PC Back Panel      1PC

Directional Caster    4PCS Tank Barrier Bar     1PC Fence Rail           1PC Door (R)   1PC

Door (L)    1PC Handle Base       4PCS Door Handle     2PCS Back Side Bracket (R)   1PC 

Back Side Bracket (L)  
                                       1PC

Body      1PC Side Table Connector (I) 
2PCS

Side Table Connector (II) 
2PCS

Side Bracket (RF, LB)
                                     2PCS

Side Bracket(LF, RB)
                                   2PCS

Side Table (L)      1PC Side Table (R)      1PC

Flam   e Tam   er     3  PCS Cooking Grate        2PCS Drip Pan          1PC

Griddle Top    1PC Oil Cup    1PC

Tank Holder     1PC

Oil Tray    1PC Oil Tray Handle     1PC

   WWWWWWarm   ing Grate     1PC



Exploded View

Page 10 of 32



Hardware

Page 11 of 32

 

BOLT  M6      ×
12

(49 pcs)

BOLT  M4 
× 8

(2 pcs)

BOLT  M6
×55

(4 pcs)

 

MAGNET     

(1 pc)

 

(8 pcs)

 

COTTER PIN 

(4 pcs)

Ø1.5x28

 

GRIDDLE FOOT M6

(4 pcs)

 

(4 pcs)

NUT M6 FLANGE LOCK

×30

BOLT  M5
×

10

(2 pcs)

 

BOLT  M6
×20



Assembly Instructions

Step 1:

Step 2:

Page 12 of 32

Insert Tank Holder (3) - 1 PC 
to Bottom Shelf using COTTER 
PINS (E) - 2 PCS.

- 1 PC to the legs using BOLTS
M4 X 8 (B) - 2 PCS.  

Assembly the Side Shelf (1) - 2 
PCS to Bottom Shelf (2) - 1 PC 
using BOLTS M6 X 12 (A) - 4 
PCS and M6 X 55 (C) - 4 PCS. 

Install Magnet (D) -1 PC on 
Bottom Shelf using BOLTS 



Assembly Instructions

 Step 4:

Step 3:

Page 13 of 32

the bottom assembly Turn over
when complete and lock casters
to prevent from moving.

Install Directional Caster (5) - 4 
PCS to side shelfs by twisting 
until tight.

Install Back Shelf (4) - 1 PC 
using BOLTS M6 X 12 (A) -
7 PCS.



Assembly Instructions

Step 5:

Step 6:

Page 14 of 32

Install Fence Rail (7) -1 PC to the
- 1 PC to the legs using BOLTS 
(A) - 4 PCS.
side shelf using BOLTS M6 X 12

Install Tank Barrier Bar (6) - 1
PC using BOLTS M6 X 12 (A)
- 2 PCS.



Assembly Instructions

Step 7:

Step 8:

Page 15 of 32

   Insert bottom-end of the door 
   into the hole of the base on the 
   bottom shelf as shown. 

   Insert upper-end of the door 
   into the hole of the fence rail 
   as shown. 

   Press upper-end of the door as
   high as the bottom of the fence
   rail as shown. 

Install Door Handle (11) - 2 PCS
and Handle Base (10) - 4 PCS on

 the Door (8)(9) using BOLTS M6

X 12 (A) - 4 PCS. 8
9



Assembly Instructions

Step 10:

Step 9:

Page 16 of 32

Put the Body (14) - 1 PC onto
the cart.

Install Back Side Bracket (12)(13) 
-2 PCS to back side of cart using 
BOLTS M6 X 12 (A) - 4 PCS as 
shown.



Assembly Instructions

Step 12:

Step 11:

Page 17 of 32

Install Side Table Connector (I)
(15) - 2 PCS and Side Table 
Connector (II)(16) - 2 PCS on 
body using BOLTS M6  X 12 (A) - 
8 PCS.

Lock Back Side Bracket to back  
side of body using BOLTS M6 
X 12 (A) - 6 PCS as shown.



Assembly Instructions

Step 14:

Step 13:

Page 18 of 32

Install Side Table on body using  
BOLTS M6 X 20 (F) - 8 PCS.

Install Side Bracket (RF,LB)(17) - 
1 PC and Side Bracket (LF,RB)
(18) on Side Table (L)(19) - 1 PC 
using BOLTS M6 X 12 (A) - 4PCS.

Repeat step with Side Table (R) 
(20) - 1 PC.



Assembly Instructions

Step 16:

Step 15：

Page 19 of 32

Place Flame Tamer (21) - 3 PCS 
into Gas side of body.

Place Cooking Grate (22) - 2PCS 
into body.

21

22



Assembly Instructions

Step 17:

Page 20 of 32

Step 18:

Slide Drip Pan (24) - 1 PC  into 
the Griddle Body.

Assemble the Warming Grate 
(23) by inserting the top two
ends to gas lid and bottom
side to body. Secure the top
part of warming grate with
pre-assembled COTTER PIN
(E) - 2 PCS.

24

23

E



Assembly Instructions

Step 19:

Page 21 of 32

Step 20:
I

Assemble the Griddle Foot
(G) - 4 PCS onto Griddle Top
(25)- 1 PC using Screw Nuts
(H) - 4 PCS.

Put the Griddle Top onto the 
body.

Install the plate on the hose to 
the cart using BOLTS M5 X 10
(I) - 2 PCS as shown.



Assembly Instructions

Step 21:

Page 22 of 32

Assemble the Oil Tray Handle 
(27) - 1 PC to Oil Tray (26) 
using BOLTS M6 X 12 (A) - 2 
PCS.

Slide the Oil Pan (28) - 1 PC 
underneath oil tray. 

Slide oil tray underneath left 
side of body.



FULLY ASSEMBLY

Page 23 of 32



Page 24 of 32

Operating Instructions

Provided with a listed overfilling prevention device.

Provided with a cylinder connection device compatible with the connection for outdoor cooking appliances.

6.   A means for vapor with drawal.

7. Other cylinders may be acceptable for use with the appliance provided they are compatible with appliance

retention means and accompanied by illustration(s) depicting the cylinder mounted to the appliance utilizing

the cylinder retention means and the point of contact between the cylinder and the retention means.

In addition, the LP tank you use with your grill must meet the following requirements

Your new gas grill operates on LP(Liquid Petroleum)Gas. It is odorless,colorless,and non-toxic when
produced.You can smell LP gas as it have been given as odor similar to rotten cabbage for your safety.

Your grill uses the newest and safest LP Gas Cylinder.

1.  Required Measurements:12 -1/2"(317mm) in diameter and 18 -1/2"(472mm) in height.

2.  20- pound (9.1kg) propane cylinder.

3.  Constructed and marked in accordance with the Specifications for LP-Gas Cylinders of the U.S.Department

   of Transportation(D.O.T)or the National Standard of Canda,Can/CSA-B339,Cylinders,Spheres and Tubes

for Transportation of Dangerous Good and Commission as applicable.



Page 25 of 32

Operating Instructions

LIGHTING THE MAIN BURNERS USING AUTOMATIC IGNITION 

1. Open the lid.
2. Ensure all burner control knobs are in the “Off” position.
3. Turn on the LP gas by turning the hand wheel on the cylinder valve.
4. Turn one burner control knob marked with an igniter flame “  ” to “High”.
5.

6.

If the burner does not light within 5 seconds, turn the burner control knob to “Off”.  Wait 5 minutes for the 

7.
When lit, turn the control knob to the desired setting. 

MANUALLY LIGHTING THE MAIN BURNERS WITH THE MATCH LIGHTING STICK 

1. Open the lid.
2. Ensure all burners are in the “Off” position.
3. Slowly turn on the gas at the LP tank valve if it is not already on.
4. Place a match in the Match Holder.  This is located in the top center

drawer of the grill cabinet underneath the right main burner.
5. Use the holder to slide the lit match though the cooking grates and the

front of the heat tent to the left of the burner you wish to light.
6. Press and turn the burner control knob to “HI/LIGHT”.  Continue to push

in and hold up to 5 seconds or until the burner lights.
7. If the burner does not light within 5 seconds, turn the burner control

knob to “Off”.  Wait 5 minutes for gas to clear, and try again.
8. When lit, turn the control knob to the desired heat setting.

LIGHTING THE SIDE BURNER WITH AUTOMATIC IGNITION 
1. Open the side burner cover
2. Ensure the side burner control knob is in the “Off” position, as well as any main burners not in use.
3. Turn on the LP gas if it is not already on.
4. Turn the side burner control knob to “High”.
5.

6.

If the burner does not light within 5 seconds, turn the burner control knob to “Off”.  Wait 5 minutes for the 
gas to clear, and repeat the above procedure.  Use the Manual directions if it still will not light. 
When lit, turn the side burner control knob to its desired setting. 

Repeat the above procedure for other burners.

gas to clear, and repeat the above procedure.  Use the Manual directions if it still will not light. 



Page 26 of 32

Operating Instructions

2.

3.
4.
5.
6.

7.
8.



Page 27 of 32

Operating Instructions & Trouble Shooting



Page 28 of 32

GRIDDLE

- check after use.Remove and clean the Pan as grease builds up.It can be washed with warm
water and mild dish soap.

griddle has not been

Care and Maintenance

Small insects,such as spiders,are able to access the burner tubes. Sometimes they will build nests or spin
webs. In either case, this can block or reduce the amount of gas flowing throught the burner.You will
usually see smaller flame,or a flame that is mostly yellow rather than blue, coming from the burner when
this happens.Other signs include the griddle not heating evently,not reaching temerature,or burners not 
igniting.In cases with severe blockage,this can cause the flame to burn backwards, and outside of the
burner tubes,which can cause damage to your griddle and/or personal injury. IMMEDIATELY SHUT OFF
THE FLOW OF LP GAS AT THE CYLINDER BY TURNING THE HAND WHEEL
CLOCKWISE SHOULD THIS HAPPEN. Wait for the griddle to cool,and then clean all burners.

Cleaning Your Griddle

1. Do not clean any part of your barbecue griddle in a self-cleaning oven.
2. Do not use oven cleaners,abrasive kitchen cleaners,cleaners that contain citrus products,or mineral

spirits.
3. Do not use any type of steel bristled brush.
4. Clean your griddle regularly to prohibit grease build-ups and avoid a grease fire or excessive flare-ups.
5. Always keep your griddle to cool down prior to cleaning.



Care and Maintenance

Page 29 of 32

Griddle Top-

The griddle top has a Non-Stick Property and will easy to clean and maintain.In order to keep 

the good performance of coating,please follow the below steps during cooking:

- Please clean the griddle before use.
- It is better to use warm/hot water only.
- Do not place the dishwasher or use any other cleaning chemicals/materials.
- Do not use a metal brush,steel wool or abrasive material to clean the griddle as this could 

- Please avoid using excessive force scraping the surface as it is not needed since this griddle
has non-stick properties.

- Continued maintenance will ensure that cleanup is easier in the future 
and the user will have a more enjoyable cooking experience.

1.  Preheat the griddle to cook temperature, then apply oil (cooking spray is fine) 
on the surface before you begin cooking any food.

2.  After cooking, gently scrape away any remaining food residue and proceed 
to clean the griddle with a soft sponge. 

3.  When complete, heat the griddle top then apply more cooking oil (cooking spray is fine)
 on the griddle surface.

4.  Let the griddle top cool then store in a covered dry place .

damage the coating. 



Page 30 of 32

Care and Maintenance

.



Page 31 of 32

Frequently Asked Questions



Page 32 of 32

This product




